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=~ (14 57) NTU uses the proportional method (tt4#{ %) of revaluation model (& 444§ # &) for all of its PPE
assets and transfer the revaluation surplus to retained earnings only when the asset is disposed. NTU uses
the fair value model (/> #.4% 484 &) for all of its investment property.

(1) On Dec 31 2010, NTU bought a piece of land with $600 Million and a building with $500 Million as its
headquarter. Useful life of the building is 10 years with zero residual value. On Dec 31 2011, a
revaluation test shows that the fair value of the land and building were $600 Million and $540 Million
respectively. On Dec 31 2012, a revaluation test shows that the fair value of the land and building were
$500 Million and $300 Million respectively. Provide journal entries on Dec 31 2012. Based on the
journal entries, please indicate “net income” increased or decreased by how much.

(2) On July 1st 2014, NTU moved its headquarter to another place and decide to rent out the place. On that
date, the fair value of the land and building were $800 Million and $600 Million respectively. Provide
journal entries on July 1%, 2014. Based on the journal entries, please indicate “net income” increased or

decreased by how much.

Z ~ (10 %) Trader Joe’s uses the retail inventory method. The following information is available for the current

year.
Cost Retail value

Beginning inventory $70,000 $100,000
Purchases 300,000 400,000
Freight-in 5,000 _—
Net markups — 125,000
Net markdowns — 143,750
Sales —_— 390,000

Managers want to know how assumptions in the retail inventory method affect net income. Compare the
two alternatives (1) Under weighted average assumption, and the ending inventory is to be valued at
lower-of-average-cost-or-net realizable value (LCNRV) (2) Under FIFO assumption, and the ending
inventory is to be valued at cost method. Which one has higher COGS (alternative 1 or 2)? By how much?
(In your calculation, clearly label the cost to retail ratio for these two alternatives. Show the ratios in
percentage and round to the second decimal point, such as 12.34% )

29 ~(14 4)On Dec 31, 2010, J acquired S with 6000. S has three cash generating units A, B and C. Fair value of
identifiable tangible assets from units A, B, and C are 2000, 2000, and 1000 respectively. J recognized 1000
goodwill from this acquisition. ] applies cost method for assets in unit A, B, and C with 10 years of useful
life and zero residual value,

(1) Assume no impairment in 2011. At the end of 2012, an impairment test indicate that the recoverable
amount for unit A is 1440, for unit B is 2400, for unit C is 720. Provide journal entries as if the
goodwill can be reasonably allocated.

(2) At the end of 2013, an impairment test indicate that the recoverable amount for unit A is 2000, for unit
B is 2200, for unit C is 900. Provide journal entries for this impairment test.
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& ~ (11 %) Starting January 2013, a three year construction job with contract price 3,200 is to be completed in
December 2015. Revenue is based on percentage of completion. The following table is compiled on Dec 31,
2014. Please provide journal entries on Dec 31, 2014, What is the effect of the journal entries on net

income?
2013 2014 2015
Costs incurred to date 800 1650 3250
Estimated costs to complete 1200 1600
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